Publication #1581-98
Ebsray V30 & V35 pumps fitted with FPC (flow and pressure control) valve.
To be read in conjunction with
Installation, operation & Maintenance instructions Publication No 1103-1995

The FPC feature is an option on a number of V30 &
V35 models and is standard on V30 & V35 type 81
and type 82. The type 81 is factory equipped with
the spindle and seal only, the type 82 includes the
cam and lever actuating device.

The FPC uses a spindle to enable mechanical
opening of the bypass valve for reduced flow.
Assembly and disassembly of these pumps is
identical to the procedure outlined in this manual
except for fitting of the 'O’ ring and valve spindle to
the bypass valve cartridge, if fitted with cam
actuator the valve cartridge setscrews are replaced
with studs, spacers and nuts. (refer Drawing
A235001B).

DISASSEMBLY: After removing bypass valve
cartridge, (IV-C Section 1 - Bypass Valve para’ 5)
remove spindle and spindle 'O'ring from cartridge.

REASSEMBLY: Before fitting valve to bypass
valve cartridge,(IV-F section Il-Bypass Valve para’
2) fit spindle 'O’ ring to bypass valve cartridge,
lubricate and fit spindle assembly from inside
bypass valve cartridge. The short, slotted end of
the spindle points toward the valve with the long
end of the spindle projecting from the cover. Refer
to Drawing A235001B for final reassembly detail.

FIT_ WITH LOCTITE 603 OR EQUAL V30-51

FIT_1/4"x1/4" BSW_GRUB

SCREW _WITH LOCTITE 603
OR EQUAL DO NOT OBSTRUCT
VALVE MOVEMENT.

V35—-14

1/2"%X3/32 O'RING

5/16"x1” B.S.W. HEX SET SCREW
V30-55

1/4"BSW_x1/4" GRUB SCREW

1/4"BSW x2” HEX SET SCREW

FIT 1/4” B.S.W. HEX NUT
WITH LOCTITE 243 OR EQUAL

)

L
/ V30-54 /
V35-52

@ /
3/8"BSW x 2—1/2" ENGINEERS STUD

—
|
I
|
W

V35-61

Vv30-52 /

E 5/16" B.S.W. HEX NUT
\ 3/8" B.S.W. HEX NUT

TITLE
CAM ACTUATOR FOR V35 FPC VALVE

-—
E]l @ -— SCALE: 1=1 [DATE  09-02-98
B8 07.07.98 LOCTITE 603 WAS 601 AND V.H.D.|J.J.D &ﬁvﬂy DRAWN: V.H.D D)
FOR STANDARD DRAWING o LOCTITE 243 WAS 242. oy ettt AUSTRALIA : V.HD. JCHK.D: J.J.D. [APPR.
FEATURES %TOL%MgngT A [23.02.98STUDS WERE 2.25” LONG|V.H.DJJ.J.D.]JJ.0.| EBS—=RAY PUMPS PTY.LTD |COMP.No: DRG. No: REV.
V35 REF. TO MACHININ
Rev| DATE DESCRIPTION o ACN. 000 061 003 A2350018 A2350018 B




